Efficiency vs dr

2 0.02p x
J 3 <
9.018} g
F > -
(0] L L
‘©.014F 3
®012F g ool
012F S .
F 2 0.6f
0.01F 3
F o -
0.008f- 3 040
0.006F
0.004F 0.2
0.002F
o 10—t Sl et
T 1.05f--| == o |é ~STeRs parpiaselnewgeom
@ 15—- e — gi—:‘TCF’ Getﬁ%?.lrcpfa}esel ngwrg ﬂ?sel-newgeom
F L -
107 10 2 1 1 1078
TP min AR

[ Efficiency vs dr (track,jet) |

[ fake+duplicates vs AR |

§0.01
.009
£
Q.OOB
9.007
>
®.006
Q
ij5=6.005
)
0.004
0.003
0.002
0.001
1.

Ratio
N

0.95

=
o

w

1072

Efficiency vs pu

1
AR(TP, jét)

50.02

a _ r
©.018F-
9.016F
[ C
D.014F
t -
®.012F

0.0

0.008F
0.006F
0.004F
0.002F

.................................................

.................................................

.......................

Ratio

100 120 140
Pileup

-1

1072 101 o
track min AR

[ fake+duplicates vs AR(track, jet) |

fake+duplicates rate vs AR(track, jet)

Ratio

0.8

o
]

©
o2}

o
&)

©
»

0.3

©
[N

0.1

1072 1
AR(track, jetgJ

fake+duplicates rate vs PU

Ratio

1_
0.8~
0.6~

0.4

o
©
N
O[T TTTY

100 120 140
Pileup



	Contents
	Page 1


